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OUgHII= fAEX 2y 526,000
-HHMEHIS(HELLNE S) IS
cldl 300,000 *920= 276,000
-HEHIIS(HSMH) S el
100,000& %2,200& 220,000
-CHEHII2(ZAHERIA) RAEHIY
500, 000& *60E 30,000
Oxicl =ut=g S 2,796,000
- E dEHDIE IS
190,000 *17,000=+3/4 2,422,500
-HE+ ISR 160,000& *1,875& 300,000
-&&= 01E X 21,0002 +3,500& 73,500
401 AIEHIZ SO 332,000 677,000 A345,000
01 Al&H| 332,000 677,000 345,000
OZSHIISSEXNCIANE 72
50,000,000 50,000
OZYHDISSEMelAlE 280tA 89 27,000
-2A0tA HUX SE2CIH S AEE
9 22,000,000 22,000
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KEH /5' I IS S HCAE 2E 2
Siel: BAHDISEEHIAL 2gBa (SHol: )
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
—2A0tA WX SE22/H SAAM 33
g9 5,000,000& 5,000
OBE4H2INE HEIMEE XA
170,000,000& * 14! 170,000
OA2AIE SXIEHI(SRIERIAMNY DI & A
AEH 849 85,000,000 85,000
HRES(AAMAXRD) 1,008,097 630,000 378,097
SEXS(LLsIAH) 40,000 40,000 0
KIEEXH &kt 40,000 40,000 0
311 XS0l AHatet 40,000 40,000 0
01 Al - & - 2XGNLI ISR S0 KHatet 40,000 40,000 0
OdEZ SAEF HIISHCIAIE EXIAH
A= O Aratg 40,000,000& 40,000
LA HHXIZ 968,097 590,000 378,097
JIERIAIEES 721,700 420,000 301,700
701 JIERI IS EES 721,700 420,000 301,700
01 JIE=I AN ES 721,700 420,000 301,700
OHPISXCIANEAISESE 2 H HES
721,700,000 721,700
HIISHMeIAMEF=2XAIS 246,397 170,000 76,397
2 IIsdE3 246,397 170,000 76,397
01 JIsd&E=s 246,397 170,000 76,397
CHIIZXelANE FeXAIIS HES
246,397,000 246,397




